ENRAROBESIEHRT — 2 N—ZXBISH—F
BN ~U>s 3B ¥5RIME (RE) K (3R TE

20205F10A24H (£) 4\E=#B5H
‘ [Riz] ¥ ‘ [REBE] — | Z (A) 1600M FHE

[A&4£] 1 7 18,200,000 § 2 7% :7,300,000 § 3 3 :4,600,000 ™ 4 3%:2,700,000 . 5 3 :1,820,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= 4 3 | BEAS 1:36.0 1-1 34.0 [ 100.1 | 1 486 | ZIUEERD (RR)
1 4 AP S 53.0 (=) (+4) %ﬁiﬁ;’iﬁ
X% XS BiRTA MTIVNL BR=GF 77— L
SN i 4 | KOFEH 1:36.1 2-2 33.8]99.6 | 3 466 | MIIFE (ER)
2(1|1|V—RAF—T> 55.0 (3/4) © |EFEAR-—LFZTZ ()
LF=TANT By 2—0XER J—HTr—LA
. o5 | K& 1:36.5 6-7 33.7] 953 | 2 468 | THEE (FF)
31717 L—>F v A L gS.O (2 1/2) © |FFNT1x
LT RIAYL—> BF1—TT—NILX F—L— - SwN> - T7— LERE
= # 5 | KRILE—ER 1:36.8 2-2 34.6| 89.3 | 4 444 | BEERM (EX)
46|77 1HR 55.0 (1 1/2) ) | (B) HAL—ZH—2
R:FA—TAINT b BiZY 4 — =X (B) HB&aI—KL—Ya>AET7
s o 4 6 | HILBATE 1:36.8 5-5 34.2| 91.8| 7 506 | THEEZ (ER)
sl 2| Frv>TAAM—L 55.0 (74%) (ta) |TFNTa>
RAR—3I>ThR—L B:xv>Ta2R H—L—+TvIN> - Ty—LBRS
S = i 4 | WIHEE 1:37.2 6-6 34.5| 86.6 | 6 448 | BRE (RR)
6 5| E7FT7xZ 55.0 2 1/2) (120) | B) HrF-L—>7
X ThANAN BTz oTAIVRF =Y Ty—L
y . s 5 | HERHA 1:37.6 4-4 35.2|79.4| 5 464 | REREK (RR)
7Rl 3|/ TN ATF 55.0 (21/2) (+4) (%) HEL—XK—X
R:F4—TA4>N7 8 B:/—Tya2T— HET7—L
@ 21 L
£ 45.6-34.0
NA>ZA L | 13.2-12.2-12.5-12.5-11.6-11.1-11.3-11.6
® I—F—@EBIERL
13—=7—
2a=5F=
== 4(1,6)3,2(7,5)
43—+ — 4(1,6)3,2,5,7
[ N5
B OB 4 170 | | 74 K 1-4 210 | | B & 1-4 470M | | =R 1-4-7 4504
# B 4 110 4-7 140M B H 4-1 650M 3B 4-1-7 1,570M
1 220 1-7 290M

ARICOVWTRDTEEERROODE. TR LI,




